Solving Systems of equations
by Elimination
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Solving Systems of Linear Equations by Elimination
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What you will learn about:

How to solve a system of equations by elimination.

Stap 1. Write both equations in standard form. It any coalficients ars fractions, clear them
Shep 2. Maks the confficiends of one varmbie opposites.

» Decide which varabie you will aiminsts
= Multiply oné or both aquations 8o that the coeMciants of that vanabls are opposdas

Step 3. Add the sguations resulting from Step 2 1o efimnale one vislable.

Stap 4. Solve for the remeantng varlable

Stap 5. Substitute the solution from Stap 4 imo one of the onginal squations, Than solve for tha other vanable
Stap @ Wirite fiwe solufion as an ordered par

Step 7. Check thal the orderad pair B a solution 10 both ongingl aquations.
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Solve the 5yiem by elemination
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